Quick Assembly

i BY @ CE OB

Terminal Blocks

G)SCHLEGEL)

ELEKTROKONTAKT

D
Lo

IK3, IK10, IK16 IK5 IK25, IK50 IK70 1K120, IK240
Stock Items: (for pricing see page 9 & 10 of Item Price List)

Terminal Block Part Numbers and Dimensions

Part number IK3 IK5 IK10 IK16 IK25 IK50 IK70 1K120 1K240
Height (H) 36 38 44 44 48 51.5 72 83 83
Width (W) 40 40 40 40 50 50 70 120 120
Thickness (T) 5 6 8 10 12 16 23

Screw size M2.5 M3 M3.5 M4 M6 M8 M8 Bolt | M8 Bolt | M10 Bolt
Tightening Torque (Nm) 0.7 1.5 1.5 2.4 7.0 6.7 16.4 48.0 64.0

(1) The contact system ensures that no matter how small the (5) The heavy gauge of the metal forming the bracket

cable, it can only be inserted into the connection hole. ensures no “tilting” of the bottom plate is possible
(2) Screw damage to the wire is eliminated by the use of a whatever the cable size.

serrated plate, acted upon by the screw bearing down on (6) A very important feature is rolled screws (shown on

the wire. the left) rather than turned screws are used, enabling
(3) A contact bracket spring exerts an upward force on the high clamping force to be achieved with reduced

screw head to ensure it does not loosen through vibration. possibility of thread damage.

(4) The contact bracket also compensates for any reduction in
contact pressure caused by cold flow of the cable.

(rolled thread) (turned thread)

2014




'SjoqWIAS J0 3X3} ‘siaquuinu ‘yum paid QEEG,

900TYSH ~ S00TMSH ~ 809¥SH  909MSH  €09MSH  80OTISH  9O08MSH  909MSH  H0SASH -dns 3q ue) “Aj3uis pajeledas Ajisea pue ‘ua) Jo sdiiis ul ‘sjaqe @i jessanun %maaa
(Ajuo 5104-T) (Ajuo 8j0d-T) ~ (30d-¥) (310d-1) (a10d-1) (310d-v) (310d-1) (a10d-1) (310d-1) ‘STT DEA 03 BUIpJI0DE P33DBUUODSIP
OVZMYX  OZIMYN  OLMYY SEMV STMY 9TMY OTMY MY MY 94 J0uue Jey) sjeuiwla) sul| Ajddns oy [aqe| Sujuiem Yum ‘s1ano) Arajes
- - GeglsS GeglsS seg1S 9191S 791S 791S _ *3n|d 1591 wwy Joy ‘paje|d [9yd1u Ajjedtuenjed 49320 Sn|d 191
- - t1Sd v1Sd t1Sd +1Sd z1Sd z1Sd - ‘9|0Y SS0J2 Yiim ajes yonoj pue ajes Qw“_.m ;w__u wwy .mM:_n_ 1S9l

£-SZIA €-SZIN "S)Ul| UOWIWOD JUdJE[PE BA]dM] UBY) DI0W JO

_ R 0LIA SZIN SZIN Z-9TIA 2917 91N ral UOLB3ID Y} J0J S3JOY OM] YiIm paile|d [a3d1u Ajjediuenjes ‘sdwiej) uondauuo)

*PasN sI aJIM ZWWQT 3|Suls e Syuo|
- - - R 9TSA R PSA _ 3U3 404 "$H20| |BUIWIA} 3Y3} O} SUOLIIUUOD AleJligle 10} ‘S1SOd UOLI3UUO)

R R R - 9TASA R PASA R ‘Jied Uo1PRUUOD SA Y3 JO SUIIBA0D jeS Yono} e Joy ‘sde) Sunejnsu|

slegsng sieqsng 0L8A Sean SZan Z-9T9A Z-99A Z-van Z-2an JeulWIS] 7 ‘(21 40 ) 1uade(pe Sundsuuod Joy ‘paie|d |ax1u Ajjeaiuenjes ‘syur] Sundauuo)

*sonsualoeleyd Joosd-a8edasud 1us||a0xe

ovZML ovTML - 0LMI 0SMI 0SMI 0SMI 9TMI Py ‘swa3sAs a8e110A pue Jua.ind Juasaylp Sunesedas Joy ‘suonnaed Sunensuj
paJinbay paJinbay GESHS SESNS GESNS GESHS GESNS Aing Areay 'SpU?d Y104 1e pasn aq ued ‘apiweAjod juelsisal-1edwi ysiy jo spew
10N 10N SESIS SESIS SENS SeNS SENS SENS SONS -plepuels ‘3901 [eulWI3] JO PUB By 18 19xPE.q BUIXY E SE pasn ‘siape.g duwep) pu3
paJinbay paJinbay 'sonsiialdeIeyd Joosd-a8edaauld Jua||aaxa ‘19yoe.q dweld
10N 10N 0LMI 0SMI 0SMI 9TMI 9TMI M NI 2y} 1sure8e |eulwJal 1se| 3yl Supensul 13 SulIAA0D J0j ‘suondas pul Sunensul

‘palewosyd moj|aA ‘paield ouiz

=y
]
- - TIOT8A  TI98A  CIVBA  CI-V8A  [euwaL Tl Suauiaiinbal iy o3 pareledas Alisea aq ued &A&%

SEN SeN SeN SEN SEN SEN SEN SEN SEN Ajjeaiuenjes ‘|9a1s 19ays pa||o4 ‘2z0 0S NI NIQ ‘Suo| wwg ‘|suuey) Sugunoly
's|eaiwayd Auew
s s8m S6-S¢ 0S-9T S¢-0T 91-9°0 0T-S°0 9-9°0 -9°0 OMV ‘uondaloud adepns  pue joyod|e ‘|lo ‘suljosed 1sulede jueisisal ‘(3ul
J0 sjegsng  Jo sieqsng 0/v-t# 0T-9# v-8# 9-tcH 8-CcH 0T-Ce# CT-Ce#  uondsuuo) olueajed ‘anjea anbuiol y8iy ‘smauds suayiduanls  -ysinBunxa J|as ) s|qeuwweljul ‘@dueISISas UMop

Yoiym passasdwod aue spealys ‘pajewolyd  -yeasq ysiy ‘yiduasns 1oedwi pue a8edasud ySiH
‘pare|d JUIZ ‘SMAUDS |991S PI||0Y :SMAIIS  ‘panosddy ZA-¥6 1N ‘9°9 aplweA|od :uonejnsul

008/0SL 008/0SL 008/0SL 008/0SL 008/0SL 008/0SL 008/0SL 008/0SL 008/0SL 1/n
009 009 009 009 009 009 009 009 009 93e3j0A
c / / ‘Ayundas  apinoad
esy c6e occ 891 ot a8 19 ve 9¢ mmhwﬂ& 0} P33LJJDS SUOKIBUUOD SSOID 40} djoy paddel *JUBISISJ UOIS0JI0D pue paile|d |aydIu
08 08¢ 0s¢ 0st 58 9 05 0€ 0c v 9UO PUB $10}09UUOD M3JIS OM] :Suoldauuo)  Aseulpio ‘Aojje saddod ‘syied |e1a|A :s|elialepl
ovorl 0TI ol T SOl 9D (] ]l el

Y JURIHWLIAU| SNIS|9D 04T - "UOLONJISUOD  pJeoq [dued pue JojeAd|d ‘suol
L [ = SNONUIIUO) SNIS|3) 5G0T - -B||BISUI UOLIBIUBWINJISUI pUB uouNqLasIp ‘Jeas
e :90oue)sIsay aJnjesadwia]  -ydlMS ‘S|0Jiu0d |00) aulydel :a8esn Adasnpu|




